He'+y!+xy+8x =9 then y' ot the point (1, 0) equals

-20

-6

4

24

Mone of the sbowe

z2008>»

Select one;
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|Tl'lc linear approximation of f(x) = ‘-:l; ata=5Is:

A) y=X
B) y=1+x
C) y=-1-x

E) None of the above
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The equation of the tangent line to the curve
(x2 + y?)? = 4(x? — y?) at the point (=, 7) Is
A) y=—-x+i;-‘~

B) y=x+%

Oy=%
D) y=—-6x+%
E) y=—%x+¥

Select one:

O A)

O B)
O ¢)
O D)

O E)

CamScanner = g d>gunall
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An equation of the tangent line to the curve

y sin 2x = xcos 2y atthe point (g g) is

My=x+g
X
B))'='-;ﬂr
Qy=x+7
D)y=7—%

CamScanner = Wgo &> guaadll



The linear approximation of f(x) = 1%: at a =0 is:

Al y=1+x

B) y=1-x

) y=-1-x
D) y=x

E) None of the above
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The curve y = sin~! x has a tangent line parallel to
theliney = x+ 1 when x =

A 2
1
B) * 3
1
C) = 3
D) +1

{Q
=
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Given — f (2*) =4*In16,where x > 0. Then f'(3) =

CamScanner = g d>gunall
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at the point (1, 0) equals
A) -28
B) 20
C) 4
D) 8
E)

None of the above
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fg(x) =f(2x+1+tan"'x),and g'(0) = 6. Then f'(1) -

A) 2
B) 4
C) 5
D) 6

E) None of the above

select one
A)

* )
C)
D)

E)
CamScanner = g d>gunall
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Suppose that f(0) = 3, f'(0) = -3,g(0) = —-2,and g'(0) = 2.
If h(x) = 2299 then h'(0) =

f(x)cosx

A) 1

B) -1

C) 2

D) -2

E) None of the above
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lg(x) = f(2x -1 + tan ' x),and g'(0) = 12. Then f'(-1) =

A) 2
8) 4
Q) S
D) 6
€) None of the above

CamScanner = g d>gunall



The linear approximation of f(x) = —— at a = 4 is:

A) y=x

B) y=-1ix

C) y=—-1+zx

D) y=-1-x

E) None of the above

Select one:
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Given f(x)=-9-4xlfor-1<x<l1andg(x)=4-(x-4)!
for 2 < x < 6.1 |is a tangent line for both [ and g, then the siope
of the tangent line [ equals:

Answer:

CamScanner = g d>gunall



For what valuesof aand b istheline Zx -y = b tangent
to the parabola y = ax? when x = 2.

A) a=—i—andb=2
B) a=;and b=-2
C) u=-%:ndb=—2
D) ﬂ=%andb=2

E) None of the above

CamScanner = g d>gunall
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Assume g(x)=f (c&z"“Jr ), where f is a differentiable fundion
and satisfies the following table:

Theng'(0) =
A) 0 1 5 4
B) k
Q) 2k
D) 3k
E) 4k

Select one:
n)
B) e

)
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oo o' ony-Ba o =7 than " ot the gl | 1, D) squal

i

10

4

L |

e g T Weees

2802k

Select ona
L ] ﬁ.:l
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if e’ + y® + xy + 4x = 5, then y” at the point (1, 0) equals

A) -4

B) -2

C) 8

D) 20

E) None of the above 3

Lot e
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¥ g(x) = f(2x +5 + tan™" x),and g'(0) = 18. Then f'(5) =

A) 2
B) 4

C) 5
D) 6

E) None of the above
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The curve y = tan™! x has a tangent line parallel to th
liney =1 +?:xwhenx =
A <3

| -

B) *

() %

et b = W

D) *

CamScanner = g d>gunall
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if f(x) is one to one function, then the value of i [f1(x)]
when x = 2 using the table below equals:

A x [f@ [F()
B) ; 1 -1 2
C) i 2 2 3
D) -1 3 -3 4
E) -3

(A O
(B O
(c O
(D O
(E O
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he function f(x) = (cos x) eV3* 0<x< 2m, has a horizontal tangent
ne atx =

lﬁ] Izﬂ E

1 1
o 5=
€ x =", 2T
o x=32
0 x=34

CamScanner = Ligd d>guwadll



For what values of a and b s the line 2x +y = b tangent
to the parabola y = ax® when x = 2.

A) a=-and b=2

8) a=.and b=-2

0 a=--andb=-2

2
D) dui.ﬂh-l

E) None of the abave

Select one:
.i. _j A)
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et f(x) = ; + 5x — cos~'(x) , then the equation of
the normal line to the curve st the point (0, 0) is

A) y=x+2
B) y=6x
C) y=-x+1

D) rt—i:

) y=:x

Select one;

CamScanner = g d>gunall



Given a function with f(—3) = 7 and f(-3) = -:—, what is
Sh
?

}11_1)1(} f(h-3)-7"

%)

D)
E)

W O WU W

Select one:
O A)

¢
O B) . .
O C)
O D)

Fa S 1
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Let f(x) = —5x — 10 + In x. Then, (f~1)'(-15) =
1

A) T

B) —-

C)

|

1
—85+In15

1
15

D)
E)
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Let f(x) =+ 5x — cos™(x), then the equation of
the normal line to the curve at the point (0,0) is
A) y=x+2

B) y=6x
C) y=—x+2

1
D) y=—Ex

1
E) y=:X

CamScanner = g d>gunall



The equation of the tangent line to the curve
(x? + y?)? = 4(x* — y*) at the point (-3, F) is
A) y=—.t+1'§-
B) y=x+2
Q0y=%

D) y=-6x+%
E) y=-Sx+2

1

Select one:
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The equation of the tangent line to the curve
(x2 + y%)? = 4(x% - y?) at the point (—%2,%%) is

A) y=-x+%5
B]y=x+%
QO y=35

D) y=-ﬁ.r+“§

E) y=—-7x+"

CamScanner = g d>gunall



Suppose that £(0) = 3, f'(0) = ~3,9(0) = -2 and g'(0) =2
_ 3ef+g(x)
¥h(x) = —L2 hen h'(0) =

f(x) cosx
A) 1
B) —1
C) 2
D) -2
E) None of the above

Select one:
O A)
O B) [y
@ C)
™
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Wgin) = filno B onam " o) mell g i0) = 10 Tham ['(§) =
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Given a function with f(-3) = 7 and ['(-3) = 3, what s
%
7

ll-ﬂ fih-3)-7

220822
DD I s -
1%

Select one:
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Given f(x) = -9 - 4x*for-1 < x<landg(x)= & —(x - &}
for 2 < x < 6.1l is atangent line forboth f and g, then the Sage
of the tangent line [ equals:



I S = o

' If In[cosh(2x) + sinh(2x)] — In[cosh(x) — sinh(x)] =
then x =

A) 1
B) 0

c) 3

1
D) 3

F) None of the above

CamScanner = g d>gunall



If In[cosh(x) + sinh(x)] — In[cosh(2x) — sinh(2x)] = 6
then x =

A) 1

B) 0

C) 3

D) -
E) None of the above

CamScanner = g d>gunall



N [i1)h one to sne henction, then the webee of .;.u Y
when 1 - ] using Uny tabile bolow sgualy

¥

oo - -

380 B

3
s

Selecl ona
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The equation of the tangent line to the curve
(x* + y*)? = 4(x* — y?) at the point (—%, %) is

ShLall aai sl
(A O
(B8 O
(c O
(D O
(e O
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Question ]5

Not yet answered
Marked out of |

Y Flag question

Oven f(x) = 9 4xiter 1<x<lomdgls)~4 (x 4)
for 2 < x < & Wi atangert line for both [ and g, then the slope
of the tangent ine | eguah:

Answer:.

CamScanner = Ligd d>guwadll



ot hon E
MNOL yol answered

Morked out of |
V" Flog question

lappens et /10) = -1 /0= 1 gi@ -1 sl g @)~ -1

.-"' i Ba
Whin) s T D) -
& 1

o -1
--’
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¥ In|cosh(4x) + sinh(4x)] + Inlcesh(2x) - sink(2x)] = 1
then 1 =

220882

0
3
|
4
None of the above

Select one:
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let f(x) = ;- + S5x - cos~'(x) , then the equation of
the normal line to the curve at the point (0,0) is

A) y=x+1
B) y=6x
€C) y=-x+12

D) ynﬂi.t
) y=:x

Select one:
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An equation of the tangent line to the curve

ysin2x = xcos2y atthe point (;—r,;—r) IS

A)y=x+§
- _f
B)y = -3
— 3
C)y—x+4
D)y =7—x

CamScanner = g d>gunall



Question 5

Not yet answered

Marked out of |

\" Flag question

W In|cosh(3x) + sinh(3x)] + In|cosh(x) — sink(x)| = 6
than x =

Al 1

B 0

c) 3
1

ﬂ]i

€) Noane of the above

Select one:
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1 e dxyall

Jsud! lia @le W

The tangent line to the function f(x) = x? — 4x is perpendicular to the line
6y+x=0atx=

{A) -1

(8) 3

{C) 4

D)5

{€) -2

Olyladl asyus]
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The equation of the tangent line to the curve
(x* + y*)? = 4(x? — y?) at the point (-2, Z) is
A) y=-x+2

Select one:

O A)
O B)
O ¢)
O D)
O E)
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Suppose that [(0) = -1.1(0) = -8, g(0) = ~4,and g’ (D) = 4,
Sr'epin .
Wh(x) = ==L, then h'(0) =
A) 1
8 -1
Q2
D) -2
E) None of the above

Select one;
& ﬁ)
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Select one:

O A)
O B)
O C)
O D)
O E)
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